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Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.
Question 1: The surface conditions on the planet Mars are the more like the Earth's than those of any 
                                               A	           B	      C                                 
other planet in the solar system
	   D
Question 2: The midnight sun is a phenomenon in which the Sun visible remains in the sky for twenty-
                                                  A                                                               B                        C	
four hours or longer.
                         D                        
Question 3: . Lawrence Robert Klein received the 1980 Nobel Prize in economics for pioneering the 
	A	                                                                       B	                    
useful of computers to forecast economic activities.
        C	D
Question 4: Those interested in covered bridges can find six of they between Keene and Winchester, 
                         A                             B                           C                D
New Hampshire.         
Question 5: Dr. Martin Luther King. Jr, clergyman and  civil rights leader, won the 1964 Nobel Peace 
		                                    A	                                B	                          
Prize for his work toward racially equality in the United States.
          C                                  D
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions 
      The goal of Internet-based encyclopedia Wikipedia (www.wikipedia.org) is to give everyone on the planet access to information. Like other encyclopedias, Wikipedia contains lots of information: more than 2.5 million articles in 200 different languages covering just about every subject. Unlike other encyclopedias, however, Wikipedia is not written by experts, but by ordinary people. These writers are not paid and their names are not published. They contribute to Wikipedia simply because they want to share their knowledge.
     Encyclopedias began in ancient times as collections of writings about all aspects of human knowledge. The word itself comes from ancient Greek, and means “a complete general education”. Real popularity for encyclopedias came in the nineteenth century in Europe and the United States, with the publication of encyclopedias written for ordinary readers. With the invention of the CD-ROM, the same amount of information could be put on a few computer discs. Then with the Internet, it became possible to create an online encyclopedia that could be constantly updated, like Microsoft’s Encarta. However, even Internet-based encyclopedias like Encarta were written by paid experts. At first, Wikipedia, the brainchild of Jimmy Wales, a businessman in Chicago, was not so different from these. In 2001, he had the idea for an Internet-based encyclopedia that would provide information quickly and easily to everyone. Furthermore, that information would be available free, unlike other Internet encyclopedias at that time.
     But Wales, like everyone else, believed that people with special knowledge were needed to write the articles, and so he began by hiring experts. He soon changed his approach, however, as it took them a long time to finish their work. He decided to open up the encyclopedia in a radical new way, so that everyone would have access not only to the information, but also to the process of putting this information online. To do this, he used what is known as “Wiki” software (from the Hawaiian word for “fast”), which allows users to create or alter content on web page. The system is very simple: When you open the web site, you can simply search for information or you can log on to become a writer or editor of articles. If you find an article that interests you – about your hometown, for example – you can correct it or expand it. This process goes on until no one is interested in making any more changes.
Question 6:  Wikipedia is a(n) ______ .
A. book			B. journal		   	C. article			D. dictionary
Question 7:  Wikipedia is written by___________.
A. paid written		B. millionaires		   	C. normal people		D. world experts
Question 8:  The phrase “these writers” in the first paragraph refers to _______.
A. ordinary readers   		B. ordinary people         	C. encyclopedia experts 	D. every subject
Question 9:  The phrase “the word” in the second paragraph refers to ________.
A. knowledge			B. encyclopedia		C. writing			D. collection
Question 10:  Microsoft’s Encarta is cited in the passage as an example of _______.
A. CD-ROM dictionary	 			  B. printed encyclopedia  
C. online encyclopedia	   			  D. updateable online encyclopedia
Question 11:  The word “brainchild” in the 2nd paragraph of the passage can be best replaced by_____.
A. born			B. child		           C. product			D. father
Question 12:  The word “approach” in the third paragraph of the passage means________. 
A. idea				B. time		            	C. method			D. writing
Question 13:  The user of Wikipedia can do all of the following EXCEPT__________.
A. have access to information     			B. determinate the website    
C. modify information				D. edit information
Question 14:  We can say that Jimmy Wales _______.
A. became very famous after the formation of Wikipedia          B. is the father of Wikipedia
C. made a great profit from Wikipedia                                       D. decides who can use Wikipedia
Question 15:  Wiki software enables _______.
A. exchanging articles           B. a purchase of information       C. limited access		D. editing
Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions from 16 to 40.
Question 16: Over the last few months garages ___ the price of petrol three times.
A. have risen 		B. have put up 		C. raised			D. have gone up
Question 17: "Could I speak to Alex, please?". 	–“_____”
A. This is Joe speaking. B.Can I take a message?  C.Just a moment.I'm coming. D. I'm sorry, Alex's not in.
Question 18: We ___ on our close friend on the way here. That's why we are a bit late.
A. visited			B. dropped in 		C. paid a visit 			D. came across
Question 19: It was so foggy that the drivers couldn't ___ the traffic signs.
A. make out 			B. break out 		C. keep out 			D. take out
Question 20: Corporations have been donating more and more to ___
A. the needy			B. the need		C. the needy people		D. the needed
Question 21: Don't ___ to conclusions; we don't yet know all the relevant facts.
A. run				B. rush			C. jump			D. hurry
Question 22: Final-year students ___ attend lectures. It's optional.
A. mustn't			B. don't have to 	C. shouldn't 			D. ought to
Question 23: He laughed in a very strange way, ___ everyone to turn round and look.
A. causing			B. making 		C. allowing 			D. attracting
Question 24:  ____ any employee be ill, they must call the office to inform their head of department. 
A. Were			B. Should 		C. Had				D. If
Question 25: "It was very kind of you to help me out, John.'     “______”
A. You can say that again. 	B. I'm glad you like it. C. That was the least I could do. D. Thanks a million.
Question 26: The Citizen's Centre will give you legal advice free of ___.
A. charge			B. money		C. price			D. payment
Question 27: The price of petrol went up only a few days after the office denial that ___ an increase in the price of petrol.
A. there would be		B. there is		C. there would have		D. had
Question 28: Susan: "Sorry, Brian is not here."       Peter: "______”	
A. Would you like to leave a message?		B. Can I take a message then?
C. Can I speak to Brian, please?			D. Can I leave a message then? 
Question 29: Young people ___ to succeed in life should work hard.
A. who wanting 		B. want		C. wanting 			D. wanted
Question 30: James stays at home every evening ___ Friday.
A. but for			B. except		C. apart			D. without
Question 31: ___ is known to be good for our health.
A. Having taken exercise	B. Exercises 		C. Exercise taken 		D. Taking exercise 
Question 32: Did she get the better of you in the argument?
A. try to beat		B. gain a disadvantage over	C. gain an advantage over	D. try to be better than
Question 33: As you’ve arrived late, you’ll have to _________ the time you’ve lost.
A. do up for			B. make up to		C. make up for			D. do up to 
Question 34: Could you phone me ___  you arrive at grandmother's, so I don't worry?
A. when			B. the time 		C. the moment 		D. the hour
Question 35: I can't believe that you ___ all the three exercises! You just started five minutes ago.
A. have finished		B. have been finishing	C. finished			D. are finishing
Question 36: Tom denied ___ for speeding and drunk driving.
A. that he had fined		B. having been fined	C. to be fined			D. fining
Question 37: ___ advised on what and how to prepare for the interview, he might have got the job. 
A. If he had 	B. Unless he had been 		C. Had he been 		D. Were he to be 
Question 38: Tom: "Would you like another coffee?" Jerry:	" ___ ___ "
A. I'd love one.		B. Me, too.		C. Very kind of your part.	D. It's a pleasure.
Question 39: The polar bear's ___ depends on its ability to catch fish.
A. survival			B. survive		C. surviving 			D. survivor
Question 40: That was a bit of a ________ for the books: I never expected him to show up .
A. turn – out			B. turn - away		C. turn – in			D. turn – up
 Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions .
        A rather surprising  geographical feature of Antarctica is that a huge freshwater  lake ,one of the world’s largest and deepest , lies hidden there  under four kilometers of ice .Now known as Lake Vostok, this huge body of water is located under the ice block that comprises Antarctica . The lake is able to exist in its unfrozen state beneath this block of ice because its waters are warmed by geothermal heat from the earth’s core .The thick glacier above Lake Vostok actually insulates it from the frigid temperatures on the surface .
     	The lake was first discovered in the 1970s while a research team was conducting an aerial survey of the area .Radio waves from the survey equipment penetrated the ice and revealed a body of water of indeterminate size. It was not until much more recently that data collected by satellite made scientists aware of the tremendous size of the lake ; the satellite –borne radar detected an extremely flat region where the ice remains level because it is floating on the water of the lake .
    	 The discovery of such a huge freshwater lake trapped under Antarctica is of interest to the scientific community because of the potential that the lake contains ancient microbes that have survived for thousands upon thousands of years, unaffected by factors such as nuclear fallout and elevated ultraviolet light that have affected organism in more exposed areas .The downside of the discovery, however, lies in the difficulty of conducting research on the lake in such a harsh climate and in the problems associated with obtaining uncontaminated samples from the lake without actually exposing the lake to contamination. Scientists are looking for possible way to accomplish this.
 Question 41:  The word “hidden” in paragraph 1 is closest in meaning to____
A. unexploitable		B. untouched		C. undicovered	D. undrinkable
Question 42:  What is true of Lake Vostok ?
A. It is beneath a thick slab of ice		B. It is heated by the sun
C. It is a saltwater lake.			D. It is completely frozen.
Question 43:  Which of the following is closest in meaning to “frigid” in paragraph 1?
A. easily broken		B. quite harsh		C. lukewarm		D. extremely cold
Question 44:  All of the following are true about the 1970 survey of Antarctica EXCEPT that it ____
A. could not determine the lake’s exact size		B. made use of radio waves
C. was conducted by air				D. was controlled by a satellite
Question 45:  It can be inferred from the passage that the ice would not be flat if ______ .
A. there were no lake underneath		B. Antarctica were not so cold
C. radio waves were not used			D. the lake were not so big
Question 46:  The word “microbes” in paragraph 3 could be best replaced by which of the following ?
A. Rays of light		B. Pieces of dust	C. Tiny bubbles	D. Tiny organisms
Question 47:  Lake Vostok is potentially important to scientists because it ________ .
A. may have elevated levels of ultraviolet light	B. has already been contaminated
C. can be studied using radio waves			D. may contain uncontaminated microbes
Question 48:  The word “downside” in paragraph 3 is closest in meaning to_______ .
A. buried section	B. bottom level		C. underside		D. negative aspect
Question 49:  The last paragraph  suggests that scientists should be aware of _______ .
A. further discoveries on the surface of Antarctica	
B. problems with satellite – borne radar equipment
C. the harsh climate of Antarctica			
D. ways to study Lake Vostok without contaminating it
Question 50:  The purpose of the passage is to _______ .
A. present an unexpected aspect of Antarctica’s geography	
B. provided satellite data concerning Antarctica
C. explain how Lake Vostok was discovered			
D. discuss future plans for Lake Vostok
Mark the letter A, B, C or D on your answer sheet to indicate the best  way to make the sentence from the cues.
Question 51: Darwin,/ theory of revolution/ was/ scientists/ among/ made/ famous,/ him/ the/ greatest/whose/.
A. Darwin, whose theory of evolution made him famous, was among the greatest scientists.
B. Darwin, whose theory of evolution, has made him famous was among the greatest scientists.
C. Darwin, made him famous whose theory of revolution, was among the greatest scientists.
D. Darwin, whose theory of revolution was among the greatest, made him famous scientists.
Question 52:  How/ ungrateful/ you/ not/ greet/ former/ teacher/ meet/ him.
    A. How ungrateful of you not to greet your former teacher when you met him.
    B. How ungrateful you are not to greet your former teacher when you met him.
    C. How ungrateful to you not to greet your former teacher when you met him.
   D. How ungrateful of you not to greet your former teacher to meet him.
Question 53: Our/ because/ become/ fingers/ in/ life/ modern/ more/ much/ sensitive/ them/ use/ we/ will/.
A. Our fingers will become more sensitive because we use them much in modern life.
B. Our fingers will become more sensitive because modern life in we use them very much.
C. Our fingers will become more sensitive because we use modern life much in them.
D. Our fingers will become more modern because we use them much in sensitive life.
Question 54: farmers/ outside/ the/ hundreds/ parliament/ of/ house/ demonstrated.
A. Hundreds farmers outside demonstrated of the Parliament House
B. Hundreds of farmers demonstrated outside the Parliament House.
C. Farmers demonstrated outside hundreds of Parliament House.
D. Hundreds of farmers outside demonstrated the Parliament House.
Question 55: son/ it/ food/ he/ in/ for/ was/ my/ to/ eat/ was/ when/ difficult/ Thai/ Bangkok/.
A. It was difficult for my son when he was in Bangkok to eat Thai food.
B. It was difficult to eat Thai food when he was in Bangkok for my son.
C. It was difficult to eat Thai food for my son when he was in Bankok
D. It was difficult for my son to eat Thai food when he was in Bangkok.
Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct word for each of the blanks
Radio, telegraph, television and other inventions brought (56)………for newspapers. (57)……….. the development of magazines and other means of communication. However, newspapers quickly (58)………. of the newer and faster means of communication to improve the speed and (59)…………of their own operations. Today more newspapers are (60)………….. and read than ever before.
 		Newspapers are sold at prices (61)……….. to cover the cost of production. The main source of income for (62)…………..newspapers is commercial advertising. The ability (63)………… advertising depends on a newspapers value to advertisers. This (64)…………in terms of circulation. Circulation depends on the work of the circulation department and on the services or entertainment  offered in a newspapers (65)……. But for the most part, circulation depends on a newspapers value to readers as a source of information about the community, nation, and world.
Question 56:  A. facilities        	B. usefulness			C. preparation   	D. competition
Question 57:  A. So had        		B. Therefore had		C. So did        		D. Therefore did
Question 58:  A. made use        	B. took the place           	C. got the control  	D. did an action 
Question 59:  A. convenience       	B. importance			C. necessity        	D. efficiency
Question 60:  A. printed        		B. issued			C. published        	D. advertised
Question 61:  A. that are failed     	B. that fail			C. have failed      	D. fail
Question 62:  A. the most              	B. most of			C. most              	D. almost
Question 63:  A. to sell        		B. to buy			C. for selling       	D. for buying
Question 64:   A. headlines        	B. tittles			C. papers        	 	D. articles
Question 65:  A. critics        		B. ordinary people		C. advertisers    	D. readers
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 66: A. experience              B. maternal 	                       C. simplify 	                 D. physician
Question 67: .A. residential              B. repetition 	                       C. mountaineer 	D. television
Question 68. A. sequential 	              B. mistake 	                       C. satisfy 	                  D. quality
Question 69.A. residence                  B. establish	                       C. maximum	            D. regional
Question 70.A. questionable             B. inferior 	                       C. criticize 	                  D. miserable
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 
Question 71:  “ I am in a bit of hurry , but I’ll ring you tomorrow” he said .
A. He said that he was very hurried, but that he would ring me the next day .
B. He said he was a bit pressed  for time , but that he would ring me the next day.
C. He said that he was in a bit of hurry and rang me the following day.
D. He said that he would ring me the next day as then he could.
Question 72:  It is open to question as to whether Jane will get the job.
A. Jane is being interviewed for the job.		
B. It is not certain that Jane will get the job.
C. The question is whether Jane will get the job or not. 
D. If Jane could answer the question, she would get the job
Question 73:  Although he was very tired, he agreed to help me with my homework.
     A. Tired as he was, he agreed to help me with my homework.
     B. Despite being very tired, but he agreed to help me with my homework.
     C. Tired though he was, but he agreed to help me with my homework.
     D. As tired as was he, he agreed to help me with my homework.
Question 74:  Julie and Anne had not met each other before he party.
A. The party was the place where Julie and Anne could not meet each other.
B. The party prevented Julie and Anne from meeting each other.
C. Julie and Anne got acquainted when they were at the party.
D. Julie and Anne used to meet each other for the party.
Question 75:  It was your assistance that enabled us to get achievement.
A. If you assisted us, we could not get achievement.
B. But for your assistance, we could not have, got achievement.
C. Your assistance discouraged us from get achievement.  
D. Without your assistance, we could get achievement
Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is closest in meaning to the underlined part in each of the following questions.
Question 76:  You ought to send two hours as a minimum in the fresh air every day.
A. at most		B. at all		C. at least			D. at ease
Question 77:  He seems to make the same mistake over and over again .
A. for good		B. in vain		C. by the way			D. repeatedly
Question 78:  Sharks are  single – minded , and will usually ignore rescuers.
A. concentrate on only one purpose/aim   	B. are selfish	C. are cruel	D. attack suddenly
Question 79:  Our junior employees are being  groomed for more senior roles.
A. inferior		B. younger		C. minor			D. superior
Question 80:  There’s a shuttle bus to the nearby airport hotel .
A. bus that travels overnight			B. bus with air – conditioners
C. bus which looks like a shuttle		D. bus travels regularly between two places

------THE END-----
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